

1, 2, 3

جواب

الف) $\sin^2 \theta = 1 - \cos^2 \theta \Rightarrow \cos^2 \theta = 1 - \sin^2 \theta$

$\Rightarrow \frac{1 - \sin^2 \theta - \sin^2 \theta}{p} = 0 \Rightarrow \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{1 \pm \sqrt{1+14}}{2} = \frac{1 \pm \sqrt{15}}{2} \Rightarrow \frac{1 \pm \sqrt{15}}{2}$

$\sin \theta = \frac{1 \pm \sqrt{15}}{2} \Rightarrow \frac{1 + \sqrt{15}}{2} \text{ or } \frac{1 - \sqrt{15}}{2}$

$\theta = \left\{ \frac{1 + \sqrt{15}}{2}, \frac{1 - \sqrt{15}}{2} \right\}$

ب) $\cos^2 \theta = 1 - \sin^2 \theta \Rightarrow \cos^2 \theta - 1 = -\sin^2 \theta \Rightarrow \cos^2 \theta + \sin^2 \theta - 1 = 0$

$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1+14}}{2} = \frac{-1 \pm \sqrt{15}}{2} \Rightarrow \cos \theta = 1 \Rightarrow \theta = \left\{ \frac{1 + \sqrt{15}}{2} \right\}$

$$\sin^2 u - \cos^2 u = \sin^2 u \rightarrow (\cos^2 u - \sin^2 u) = \sin^2 u$$

سوال ۲ الف

$$-\cos^2 u = \sin^2 u \rightarrow \sin^2 u + \cos^2 u = 0 \rightarrow \sin^2 u + \cos^2 u = 0$$

$$\cos^2 u (\sin^2 u + 1) = 0 \rightarrow \cos^2 u = 0 \rightarrow u = \frac{k\pi}{2} + \frac{\pi}{2}$$

$$\rightarrow \sin^2 u = 1 \rightarrow u = k\pi - \frac{\pi}{2} \leq k\pi + \frac{\pi}{2}$$

$$\text{الف) } \sin^2 u - \cos^2 u = 1 \Rightarrow (\sin^2 u - \cos^2 u) = 1 \Rightarrow \sin^2 u = 1 + \cos^2 u$$

1, 20 (P)

$$\Rightarrow \sin^2 u - \cos^2 u = 1 \Rightarrow \sin^2 u = 1 + \cos^2 u \Rightarrow \cos^2 u = -1 \Rightarrow \cos u = \pm i$$

$$\Rightarrow u = -\frac{1}{2}(\pi k\pi + \pi) \Rightarrow u = -\frac{1}{2}\pi - \frac{k\pi}{2} \Rightarrow \frac{u}{\pi} = -\frac{1}{2} - \frac{k}{2} \Rightarrow u = -\frac{\pi}{2} - \frac{k\pi}{2}$$

$$u = -\frac{1}{2}(\pi k\pi + \pi) \Rightarrow u = -\frac{k\pi}{2} - \frac{\pi}{2} \Rightarrow \frac{u}{\pi} = -\frac{k}{2} - \frac{1}{2} \Rightarrow u = -\frac{k\pi}{2} - \frac{\pi}{2}$$

$$\Rightarrow \cos^2 u - \sin^2 u = 1 \Rightarrow \cos^2 u = 1 + \sin^2 u \Rightarrow \cos^2 u = 1 + \sin^2 u$$

$$-\cos^2 u = \sin^2 u \Rightarrow -\cos^2 u = \sin^2 u \Rightarrow \cos^2 u = -\sin^2 u$$

$$\text{الف) } \frac{\cos^2 u}{\sin^2 u} (1 + \cos^2 u) = 1 \Rightarrow \cos^2 u (1 + \cos^2 u) = \sin^2 u$$

$$\Rightarrow \cos^2 u + \cos^4 u = \sin^2 u \Rightarrow \cos^2 u = 1 - \cos^4 u \Rightarrow \cos^2 u = 1 - \cos^4 u$$

1, 20

$$\cos^2 u + \cos^4 u = \sin^2 u \Rightarrow \cos^2 u = 1 - \cos^4 u \Rightarrow \cos^2 u = 1 - \cos^4 u$$

سوال ۲ ب

$$1 + \cos^2 u + \sin^2 u = 1 \rightarrow \cos^2 u + \sin^2 u = 0$$

$$\cos^2 u = -1 \rightarrow u = k\pi - \frac{\pi}{2} \rightarrow u = \frac{k\pi}{2} - \frac{\pi}{2}$$

$$\cos n + \sin n = 0 \rightarrow \tan n = -1 \rightarrow n = k\pi - \frac{\pi}{4}$$

$$\begin{aligned} \text{c)} \quad P - P \sin^2 n &= P \cos^2 n \Rightarrow P \cos^2 n = \cos^2 n - \sin n \cos n \\ \Rightarrow \cos^2 n &= -\sin n \cos n \Rightarrow \cos n = -\sin n \Rightarrow P k \pi - n = \pi \Rightarrow P n = -P k \pi \\ &\Rightarrow n = -k \pi \\ &\Rightarrow \cos n = 0 \Rightarrow P k \pi + \frac{\pi}{P} \end{aligned} \quad (P)$$

$$\begin{aligned} \text{d)} \quad \left(\frac{\cos x}{P} \cos n - \frac{\sin x}{P} \sin n \right) \left(\cos n \cos \frac{x}{P} + \sin n \sin \frac{x}{P} \right) &= \frac{1}{P} \quad (1, \text{VO}) \\ \Rightarrow \frac{1}{P} \cos^2 n - \frac{1}{P} \sin^2 n &= \frac{1}{P} \Rightarrow \cos^2 n - \sin^2 n = \frac{1}{P} \Rightarrow \cos 2n = \frac{1}{P} \\ P k \pi + P n &= \frac{\pi}{P} \Rightarrow \frac{\pi}{P} - P k \pi = P n \Rightarrow \frac{\pi}{P} - k \pi = n \\ P k \pi - P n &= \frac{\pi}{P} \Rightarrow P n = P k \pi - \frac{\pi}{P} \Rightarrow n = k \pi - \frac{\pi}{P} \\ P n &= k \pi \pm \frac{\pi}{P} \\ n &= k \pi \pm \frac{\pi}{P} \end{aligned}$$

$$\begin{aligned} \text{e)} \quad \cos^2 n &\Rightarrow P k \pi + P n - \frac{\pi}{P} = -(P k \pi + P n) \Rightarrow P k \pi + P n - \frac{\pi}{P} = -P k \pi - P n \\ -\sin^2 n &= \sin - P n \\ \Rightarrow P n &= -P k \pi + \frac{\pi}{P} \Rightarrow n = -k \pi + \frac{\pi}{P} \\ P k \pi - P n + \frac{\pi}{P} &= -(P k \pi + P n - \frac{\pi}{P}) \Rightarrow P k \pi + \frac{\pi}{P} - P n = -P k \pi - \frac{\pi}{P} + P n \\ \Rightarrow P n &= -P k \pi + \frac{\pi}{P} \Rightarrow n = -k \pi + \frac{\pi}{P} \end{aligned}$$

$$\begin{aligned} \sin P\theta &= P \sin P\theta \cos P\theta \Rightarrow P \sin P\theta \cos P\theta + \sin P\theta = P \cos P\theta + 1 \quad (1) \\ \Rightarrow P \cos P\theta + 1 &= \cancel{C \cdot \delta P\theta} / \cancel{\sin P\theta} \Rightarrow \frac{\sin P\theta}{P \cos P\theta} = 0 \Rightarrow P \cos P\theta = C \cdot \delta P\theta \\ \Rightarrow P(Pk\pi + P\theta) &= P\pi \Rightarrow Pk\pi + \delta\theta = P\pi \Rightarrow P\theta = P\pi - \delta k\pi \Rightarrow \theta = \pi/p - k\pi \\ \Rightarrow P(Pk\pi - P\theta) &= P\pi \Rightarrow Pk\pi - \delta\theta = P\pi \Rightarrow P\theta = Pk\pi - P\pi \Rightarrow \theta = k\pi - \pi/p \end{aligned}$$

$$\frac{P \sin P\theta \cos P\theta + \sin P\theta}{\sin P\theta} = \sin P\theta + \frac{1}{\cos P\theta}$$

السؤال ٥

$$\frac{\sin P\theta (P \cdot \sin P\theta + 1)}{\sin P\theta} = 1 \xrightarrow{\sin P\theta \neq 0} P \cdot \sin P\theta + 1 = 1 \rightarrow P \cdot \sin P\theta = 0$$

$$P_n = k\alpha + \frac{\pi}{P} \rightarrow \boxed{x = k\alpha + \frac{\pi}{P}}$$

$$\frac{\sin \theta}{\cos \theta + 1} = \tan \frac{\theta}{2} \Rightarrow \frac{\cos \frac{\theta}{2} + 1}{\sin \frac{\theta}{2}} = \frac{\sin \theta}{\cos \theta} \quad (9)$$

$$\cos^2 \frac{\theta}{2} + \cos \frac{\theta}{2} = \sin^2 \frac{\theta}{2} \Rightarrow \cos^2 \frac{\theta}{2} + \cos \frac{\theta}{2} = 1 - \cos^2 \frac{\theta}{2} \Rightarrow 2\cos^2 \frac{\theta}{2} + \cos \frac{\theta}{2} - 1 = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1+4}}{2} \Rightarrow \cos \frac{\theta}{2} = -1 \quad | \quad \cos \frac{\theta}{2} = \frac{1}{2}$$

$$\cos \frac{\theta}{2} = -1 \quad \cos \frac{\theta}{2} = -\frac{1}{2} \Rightarrow \cos \frac{\theta}{2} = -1$$

$$\cos \frac{\theta}{2} = \frac{1}{2} \quad \cos \frac{\theta}{2} = \frac{1}{2} \quad | \quad \cos \frac{\theta}{2} = \frac{1}{2} \Rightarrow \theta = \frac{\pi}{3} \quad | \quad \theta = -\frac{\pi}{3} \Rightarrow \theta = \pm \frac{\pi}{3}$$

$$\Rightarrow \left| \frac{\pi}{3} - \left(-\frac{\pi}{3} \right) \right| = \frac{2\pi}{3}$$

$$\frac{\sin \frac{\theta}{2}}{1 + \cos \frac{\theta}{2}} = \tan \frac{\theta}{4}$$

المعادلة ٩

$$\frac{1}{\sin \frac{\theta}{2}} + \cot \frac{\theta}{2} = \frac{1 + \cos \frac{\theta}{2}}{\sin \frac{\theta}{2}} = \frac{1}{\tan \frac{\theta}{4}} = \cot \frac{\theta}{4}$$

$$\tan \frac{\theta}{2} = \cot \frac{\theta}{4} \Rightarrow \tan \frac{\theta}{2} = \tan \left(\frac{\pi}{4} - \frac{\theta}{4} \right)$$

$$\frac{\theta}{2} = k\pi + \frac{\pi}{4} - \frac{\theta}{4} \Rightarrow \frac{\theta}{4} = k\pi + \frac{\pi}{4} \Rightarrow \theta = 4k\pi + \pi$$

$$\theta = \pi \rightarrow k=0 \rightarrow \theta = \pi$$

$$\rightarrow k=-1 \rightarrow \theta = -\pi \rightarrow \text{افتاد} = | \pi - (-\pi) | = 2\pi$$

$$1 - \cos^2 \theta = -\sin^2 \theta \cos^2 \theta \Rightarrow \cos^2 \theta = -1 \rightarrow \begin{cases} 2k\pi + \pi = \theta \Rightarrow \theta = 2k\pi + \pi \\ 2k\pi - \pi = \theta \Rightarrow \theta = 2k\pi - \pi \end{cases}$$

$$\sin^2 \theta = 0 \rightarrow k\pi$$

$$\theta = \left\{ \frac{\pi}{2}, \pi, \frac{3\pi}{2}, 0, 2k\pi, \dots \right\}$$

$$\sqrt{1 + \sin 2x} = \sqrt{2} \cos x \xrightarrow{\text{توان ۲}} 1 + \sin 2x = 2 \cos^2 x$$

سوال ۹

$$1 + \sin 2x = 2 - 2 \sin^2 x \rightarrow 2 \sin^2 x + \sin 2x - 1 = 0 \rightarrow \sin 2x = -1$$

$$\sin 2x = -1 \rightarrow 2x = k\pi - \frac{\pi}{2} \quad \begin{matrix} -\frac{\pi}{2} \leq 2x \leq \frac{\pi}{2} \\ k \in \mathbb{Z} \end{matrix} \rightarrow x = \frac{k\pi}{2} - \frac{\pi}{4}$$

$$\sin 2x = \frac{1}{2} \rightarrow 2x = k\pi + \frac{\pi}{6} \quad \begin{matrix} -\frac{\pi}{2} \leq 2x \leq \frac{\pi}{2} \\ k \in \mathbb{Z} \end{matrix} \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{12}$$

چون عبارت به توان ۲، سه است جواب زائد تولید میکنند
به ازای $x = \frac{5\pi}{12}$ $\cos x$ منفی میشود چنان جواب را بیاد است نذر است

* معادله ۲ جواب دارد

$$\frac{\tan \theta - 1}{\tan \theta + 1} = \tan\left(\frac{\pi}{4} - \theta\right) = \tan \pi \Rightarrow k\pi + \frac{\pi}{4} = \frac{\pi}{4} - \theta \quad (1)$$

$$\Rightarrow \theta = \frac{\pi}{4} - k\pi \Rightarrow \theta = \frac{\pi}{4} - \frac{k\pi}{1}$$

$$\sqrt{1 + p \sin \theta \cos \theta} = \sqrt{p} (\cos^2 \theta - \sin^2 \theta) \Rightarrow |\cos \theta + \sin \theta| = \sqrt{p} \cos \theta \quad (2)$$

$$\downarrow \sin^2 \theta + \cos^2 \theta$$

$$\Rightarrow \sqrt{p} (\cos \theta + \sin \theta) = 1$$

$$\sqrt{p} (\cos \theta + \sin \theta) = -1$$

$$a) (\sin^2 \theta - \cos^2 \theta) \neq 1 \Rightarrow \sin^2 \theta - \cos^2 \theta = 1 = \sin^2 \theta + \cos^2 \theta \quad (1)$$

$$\Rightarrow p \cos^2 \theta = 0 \Rightarrow \cos^2 \theta = 0 \Rightarrow k\pi + \frac{\pi}{2} \rightarrow \frac{\pi}{2}, \frac{3\pi}{2}$$

$$-\cos^2 \theta = 1 \Rightarrow \cos^2 \theta = -1 \Rightarrow k\pi + \frac{\pi}{2} = \pi \rightarrow \pi, 3\pi$$

$$b) \sin^2 \theta - \cos^2 \theta = -1 \Rightarrow \begin{array}{l} \theta = 0 \rightarrow -1 \checkmark \\ \theta = \frac{\pi}{2} \rightarrow -1 \\ \theta = \pi \rightarrow 0 + 1 \times \\ \theta = \frac{3\pi}{2} \rightarrow 0 + 1 \checkmark \end{array} \Rightarrow \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$